
1. Take a gaussian wave packet in air, of the form

A(y; z) =

Z
d!dµ exp(ikyy + ikzz ¡ i!t) exp

¡
¡(! ¡ !0)

2=2a2
¢
exp

¡
¡(µ ¡ µ0)

2=2b2
¢

with ky = (!=c) sin µ and kz = (!=c) cos µ: The integration can be performed
after we approximate

ky = (!0=c) sinµ0 + (!0=c)(µ ¡ µ0) cos µ0 + ((! ¡ !0)=c) sin µ0

kz = (!0=c) cos µ0 ¡ (!0=c)(µ ¡ µ0) sin µ0 + ((! ¡ !0)=c) cos µ0

We pull out the factor exp(i(!0=c)(y sinµ0 + z cos µ0) ¡ i!0t) and we are left
with the product of two integrals. One is
Z

d! exp(i((! ¡ !0)=c)(y sin µ0 + z cos µ0) ¡ i(! ¡ !0)t) exp
¡
¡(! ¡ !0)

2=2a2
¢

;

which evauates to
p

2¼a2 exp
n

¡(a2=2) [t ¡ (y sinµ0 + z cos µ0)=c]
2
o

: The other

integral is
Z

d! exp(i((µ ¡ µ0)(!0=c)(y cos µ0 ¡ z sinµ0)) exp
¡
¡(µ ¡ µ0)

2=2b2
¢
;

and it evaluates to
p

2¼b2 exp
£
¡(b2=2)(!0=c)2(y cos µ0 ¡ z sinµ0)

2
¤
: The prod-

uct is

2¼ab exp
n

¡(a2=2c2) [ct ¡ (y sin µ0 + z cos µ0)]
2
o

exp
£
¡(b2=2)(!0=c)2(y cos µ0 ¡ z sinµ0)

2
¤

and represents a wave packet that propagates with speed c at an angle µ0 with
respect to the z axis. The packet does not spread.

2. Take the analogous gaussian wave packet in a medium of index n

A(y; z) =

Z
d!dµ exp(ikyy + ikzz ¡ i!t) exp

¡
¡(! ¡ !0)

2=2a2
¢
exp

¡
¡(µ ¡ µ0)

2=2b2
¢

with ky = (n!=c) sinµ and kz = (n!=c) cos µ: The integration can be performed
after we approximate

ky = (n0!0=c) sinµ0 + (n0!0=c)(µ ¡ µ0) cos µ0 + ((! ¡ !0)=v0) sinµ0

kz = (n0!0=c) cos µ0 ¡ (n0!0=c)(µ ¡ µ0) sinµ0 + ((! ¡ !0)=v0) cos µ0;

where v0 is the group velocity

v =
c

d(n!)=d!

evaluated at ! = !0:
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We pull out the factor exp(i(n0!0=c)(y sinµ0 + z cos µ0) ¡ i!0t) and we are
left with the product of two integrals. One is
Z

d! exp(i((! ¡ !0)=v0)(y sinµ0 + z cos µ0) ¡ i(! ¡ !0)t) exp
¡
¡(! ¡ !0)

2=2a2
¢
;

which evauates to
p

2¼a2 exp
n

¡(a2=2) [t ¡ (y sin µ0 + z cos µ0)=v0]
2
o

: The other

integral is
Z

d! exp(i((µ ¡ µ0)(n0!0=c)(y cos µ0 ¡ z sinµ0)) exp
¡
¡(µ ¡ µ0)

2=2b2
¢
;

and it evaluates to
p

2¼b2 exp
£
¡(b2=2)(n0!0=c)2(y cos µ0 ¡ z sinµ0)

2
¤
: The prod-

uct is

Ã = 2¼ab exp
n

¡(a2=2v2
0 ) [v0t ¡ (y sinµ0 + z cos µ0)]

2
o

exp
£
¡(b2=2)(n0!0=c)2(y cos µ0 ¡ z sin µ0)

2
¤

and represents a wave packet that propagates with velocity v0 at an angle µ0

with respect to the z axis. We can say this because

Ã(t; y + v0t sinµ0; z + v0t cos µ0) = Ã(0; y; z)

In this approximation the packet does not spread, even when the medium is
dispersive.

3. Take the wave packet 1 and let it pass through the air-medium interface
perpendicular to the z axis (so that µ0 is tghe average angle of incidence). The
wave packet propagating in the medium is described by

A(y; z) =

Z
d!dµ T (!; µ) exp (ikyy + ikzz ¡ i!t) exp

¡
¡(! ¡ !0)

2=2a2
¢

exp
¡
¡(µ ¡ µ0)

2=2b2
¢

with ky = (!=c) sinµ and kz = (!=c)
p

n2 ¡ sin2 µ:T (!; µ) is the transmission
coe¢cient. The integration can be performed if we assume that T varies slowly
and we approximate

ky = (!0=c) sin µ0 + (!0=c)(µ ¡ µ0) cos µ0 + ((! ¡ !0)=c) sinµ0

kz = (!0=c)

q
n2

0 ¡ sin2 µ0 ¡ !0

c
q

n2
0 ¡ sin2 µ0

(µ ¡ µ0) sin µ0 cos µ0 + (! ¡ !0)
n0d(n!=d!)0 ¡ sin2 µ0

c
q

n2
0 ¡ sin2 µ0

;

We have written the last term in kz in a way that makes it clear how it depends
on the group velocity

v =
c

d(n!)=d!

evaluated at ! = !0:It is also convenient to introduce the Snell angle µS by
sin µ0 = n0 sin µS , so that

q
n2

0 ¡ sin2 µ0 = n0 cos µS
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We can then write

ky = (n0!0=c) sin µS + (!0=c)(µ ¡ µ0) cos µ0 + ((! ¡ !0)=c) sin µ0

kz = (n0!0=c) cos µs ¡ !0

c cos µS

(µ ¡ µ0) sin µS cos µ0 +
(! ¡ !0)

cos µS

µ
1

v0

¡ sinµS sinµ0

c

¶
;

We pull out the factor T (!0; µ0) exp (i(n0!0=c)(y sin µS + z cos µS ) ¡ i!0t) and
we are left with the product of two integrals. One is
Z

d! exp

µ
i
(! ¡ !0)z

cos µS

µ
1

v0
¡ sinµS sin µ0

c

¶
+ i

(! ¡ !0)y

c
sinµ0 ¡ i(! ¡ !0)t

¶
exp

¡
¡(! ¡ !0)

2=2a2
¢
;

which evaluates to

p
2¼a2 exp

Ã
¡(a2=2)

�
t ¡ z

cos µS

µ
1

v0
¡ sin µS sin µ0

c

¶
¡ y

c
sin µ0

¸2
!

: The other integral is
Z

d! exp

µ
i((µ ¡ µ0)(n0!0=c)

cos µ0

cos µS
(y cos µS ¡ z sinµS )

¶
exp

¡
¡(µ ¡ µ0)

2=2b2
¢
;

and it evaluates to

p
2¼b2 exp

�
¡(b2=2)(n0!0=c)2

cos2 µ0

cos2 µS

(y cos µS ¡ z sinµS )2
¸

The product is

2¼ab exp
n

¡(a2=2v2
0) [v0t ¡ (y sinµ0 + z cos µ0)]

2
o

exp
£
¡(b2=2)(n0!0=c)2(y cos µ0 ¡ z sinµ0)

2
¤

and represents a wave packet that propagates with velocity v0 at an angle µS

with respect to the z axis. We can say this because

Ã(t; y + v0t sin µS ; z + v0t cos µS ) = Ã(0; y; z)

In this approximation the packet does not spread, even when the medium is
dispersive.

4. It seems magical that the group velocity comes out to be v0k̂ . To see
that it is right and no mistakes were made, check the results for a non-dispersive
medium. Then v0 = c=n0 and we can rewrite the expression

E =
z

cos µS

µ
1

v0
¡ sin µS sin µ0

c

¶
+

y

c
sinµ0

in the form

z

c cos µS

¡
n ¡ n sin2 µS

¢
+

y

c
n0 sinµS =

n0

c
(z cos µS + y sin µS ):
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This suggests that in teh general case we use

1

v0
=

1

c

�
n0 + !0

µ
dn

d!

¶

0

¸

andgo through th esame steps to obtain

E =
n0

c
(z cos µS + y sin µS ) +

!0z

c cos µS

µ
dn

d!

¶

0

Sustituting y = v0t sinµS and z = v0t cos µS one obtains, amazingly but not
unexpectedly) E = t.

ake the wave packet 1 and let it pass through the air-medium interface perpen-
dicular to the z axis (so that µ0 is tghe average angle of
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